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Exercise 1: Is the "Transmit Data” (TxD) signal an input or an 7¢v&]ﬁ"d‘ it ""W =
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Exercise 2: Draw the waveform used to send the ASCI charac- /\_,.;———y—\.?
ter ‘&’ (hex 65) at 8600 bps with seven data bits and no parity. H \
Ox6S = ROV
‘V‘ Q\Ai \ = i —h
\Wr L2 b A, :q' duﬂ*ﬂ\, -‘-5'
4 \ T T
L
I o o |
W
-4 ¥ .7@7 *Kﬂﬁ( 4 ] 7 ”
4 -4’ "\
—p 4:-.
1 ) ~ L 1b0us
Q. I M nd ' /‘ -
1 ¥ v
\/ = Nevaaies 4 aﬂp/é;" r_w‘v‘“i
‘ -
112 Mgepte cAoth | A | 4 e




|
Exercise 3: What happens if the receiver’s clock is running

faster than the transmitter clock?
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Exercise & What would happen if the receiver was expecting

8-bit characters and the transmitter was sending 7-bit charac-

ters? What about the reverse case?
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